Q) egl+3=40r 4+5=9 or9+7=16 Bl 1.1 | or25+11=36 orany correct example
[1]

(ii) Ifm—-n=1 (or-1) E1 23 (orifm+n=1)

then (m — n)(m + n) could be prime ' or One of the factors of p could be 1
[1]

(iii) Let S=n’ 853=m"—n" & m—n =1
= Other square number is (n + 1)° M1 | 3.1a | or Other square number is (VS + 1)* = 853=m+n
=83 =(m+17-n*=2n+1 M1l | 22a | = 853=(NS+1)P*-S=2VS+1 = 853=2n+1
= n=426 Al | 11 | = S=426 = n=426




Question Answer Mks | AO Guidance
= §=181476 Al 3.2a | = S=181476 = §=181476
m—-n=1, m+n=2853 Ml T&I:
2m = 854 Ml 426 seen MIMIAI
m=427 n=426 Al S=181476 Al
n’ = 181476 Al
[4]




